1. N 2.

B

M2934 01 - o
= - _ 4x15
) B & @ T 7
\

Sads |
=

| ‘ 77x15x22
—~ \

—

\

\

[sko20] | —

bl

A
e =
B /‘//
'
B
)
| DK010
—
il




_{eLot0 {eLoto]
GL020 o
O

[Tuoso]

[SKo10) - ko)

M2934 M2934
7. 8.

4x 2X 2X
= . 55x16x6,2 %‘1‘.!

oL @ ® Tza i) B

8x 4x (5)4 1X 1x —  |2X
8x30 6,3x14 ‘3; ~ ® ;

0 = (@ Wi |@d "2 Ty (G

4x 6X 8x 2X ‘ﬁi 2X 1IX oo
4x25 M4 4x15 \ M5x12

(350) g |(80) 1) @ | @@ (e ()

64 x 8x 6Xx 8x 4x 4x 4x 1x
M4x12 6,3x50
3,5x15 5x1 5 l(g@@@@@@@@@@(' 5,0x7,0
(205) g |(208) ~<ug |(211) ™Y |(239) ® |09 oy (249 W@y |(1400) (23)
4x 1x 2X 4x 4x
4,5x50 397x21x20 Maxo
o g
(] o}
7X 77x16x2
6,5x12 ——
0 @ 1y
4X ‘ ° ®o 342x27x10 20X
° o= 6,3x14

L s B W o

M2934 M2934



9. 10.

310x30x32 8x
6x10,5

(227) wg

1 A @

1

i o
~—
S0010 $0020
$0020 S0010 2. —-(2377)

T |

2453

4, 'L
SKO010
5 . SK020

S0010 S0020 \ﬂ

o O BO010 oY o ]

M2934 M2934



13. —I_ 14. —l

25012 K 397x21x20
AX @ w |2X @ ~y =9

3,5x15
4x <
i

Sz :.“:&i
o 10

1166 SE020

\ 205 LA
L g -




I 6,3x50
azg
X @3 “%mmwm.@ =

™~

1 reeom0)

|_—

SE010
2. -
““““““mmw L
233 _/

M2934 _l_ M2934
19. |

© Mx o l()° 1 @ =9 2X @ C 1

/
~

RW010

0
(]
2 ~|
1 .
1 4/ ‘m@@
779

M2934 4L |



21.

1x o7 1x

22.

<7

2 lx o

6,5x12

1x

P

1
2 iV"A 3.@
1

779

\
Y | B
Rl o2
1 D
D o —

MMMMM

[sEot0] |-

2.

BO020

S
mmm BN Q
‘ 233

MMMMM




25.

6,3x50

4x @

26.

SE020

SE020

3 .
.('

2

«@@@@@@@@@ {
233 @«.

|- [sE020]

1xo(1x @

6,5x12

®

MMMMM

1X Wit

MMMMM

X @0

M4x12

MMMMM

1580

m%z‘ﬂ
EBJ
@

MMMMM




29. 30.

M4x12

A
M4 \
2X @ =0 |2X @ o 2x = B

MMMMM

—
Ox @ Bl | 2X @ | =28

2X Gzd) Ve

MMMMM



33.

@) |gy @) g

205
HD BOO010
[

205

1221

35,

310x30x32
@ 4X @ o 2X 1399

34.

AX @® ury =

LN

—_—

472mm

Il il

M2934

M2934

36.

6X 4,5x35 )

214
mmmm“““""'

M2934



@ 8x @'

342x27x10

=D

3,5x15

2X @3 g

1396
1 . [Eocoecoog o | « OO o o< @) Ql
@ 534
1396 @
l = Q0 o 0a= O O [[ogooeco0d 2.
@ s34
1396
3. I GQ00000 & =« @0 o ©<= @) O‘
@@ 205
40.

N\
(%)
=

2X @@

4x15

2X @) wg S

M2934

M2934




41.

42.

KO010 KO010

:

4x15

1X @D <

MMMMM

201

MMMMM

DX @) g

MMMMM




@) 2X @ wug

46.

> %ﬂ_
VIDEO E

1X @ g

77x16x2

1x

857 |

205

857

-

205 7

>—TuUo10

o
[\
1/2

1/2

205
w‘
47.
72x15x2
3,5x15 =
@7 OX @ «wg |2X =D

M2934

48.

205
& |0

857

205 T
&

205

&7
\

857

:_\ ‘

205

BX @ <

M2934

2. *

205

M2934



50.

49.
1X @ = |8X @@ g =L

1155

N

®

N7

M2934

51.
6,3x14 4x15
4x 4X @D =g

3,6x15

2X @ g

3.

5
&0

KO010

o

GL010 "
TU040 T/%;i<
o &
7
=




53.

77x16x2

1X G g 1x@~&, =29

54.

857 | S
o
205 \
™S—TU040
—_
©
857 1/2
T T e ——— 12
©
205 7
&

13x @

72x15x2

3x

M2934

55.

205

&

857

205

205

&
\

857

8X @ <

S 1

3.

AN

205

GL010
TU050

6,3x14
8x

1Xx

M2934

:‘), r.

viDEO [EIRESTR

M2934




57.

3.5x15 6,3x14
4X @ =g |4X

®

M2934

N
N
ws

8

TUO70

1177 1186
T 1.
ﬂl

s

M2934




61. 62.

55x16x6,2 @ @

%) 4% @0 = D 53 |8y @
3 %
& T —
271
\
— )
—
\\
6Xx

% 144

T
T L

— 1

&. 144




MMMMM

1284

177
1178

MMMMM

- 1286
2
4+
I\ ,
(gé\\;? 1155
1156

MMMMM




